WIBERISAPRA S d

BYXIDR oo Rl XY DR s PazPIdR oo i
X% 932 |F4vb LAF4vY K& 22 772 |FA4vE LATF4vY |KR X8 7 FA b FA b

1 B |FESRT [#vX 52580 NEEG 5 H—AZ [ 41680 1B Rk kR 42110 53470

A £h ¥y X 33060 2|E EE  |[TEA H—AZ [ 36770 AEEES 40410 38000

3|k Fy X 32488 (28 XE |FER H—4Z | 35410 HEEES 38100 33640

4ltE E2E ¥y 3 29680 4|5t movk [mmER  |[K—4 X [ 29810 AEEEEES 30520 32802

5[iB3 fLKER Fy R 26985 5[ A% |HEEER 29460 5B A 25680 32790

6|#% RE ¥y 3 26880 AEA FEA 29100 A 24584 29680

HEEIESS £y 2 23880 7 BERS 27063 1EERE 24194 27580

3 ¥y X 16485 st mE  [mEfE 24880 AEEEES 23638 26488

9 £y 2 16376 o[kis E M (R4 X | 24820 [ EEIEEREEEZECIE 20980 KRR A 22670

¥y X 16301 0]k 24220 I B 7 19640 HmER |4~ 22600

£y 2 16160 1A —% 21716 16880 KRR A 22480

12|E% SEF s [ X 15820 19990 15540 HEER |4~ 21360

BRLE |%¥v X 14708 19820 13081 B A 19890

#EFE |¥v 2 13936 18440 12257 x> 19240

MEF s |y X 13016 18165 11280 Ay 18426

EC) ¥y 3 12608 17170 11030 x> 17850

EL 9 X 11482 17120 11020 Ay 15920

A ¥y 3 7900 16523 10983 x> 15544

Fy X 7644 190 53 15921 9580 Ay 15360

X 6984 REEEES 14733 9124 e A 15070

¥y X 6892 21| A K 14500 8797 e | x> 14770

X 6413 22|7A Bt 12725 7777 R A 4460

] ¥y X 6112 23|8E 2 E 12123 i RAl [HEFsE | 7601 L] Av 13860

ke mEsm (¥ 3 5936 24|t 2AH (XK 11533 ZIEE3E e 6832 HEFyE | X 12264

B EEIECIESS £y X 5796 25|3#E i~ [FE® 10680 25|m fiR |=E 6330 KER A 11220

S e S 5488 AR 10356 268 A [ERE 6200 B A 11070

21| ks BE |TES ¥y X 5484 K5y 10265 27|\Wm kg |dEmse 5992 FEm A 9184

28| HH  |#E ¥y X 5448 EH 10185 B S 5797 EEE B 9050

29| &M AR [MEFsE [y X 5120 FEH 10077 IS 5520 FEH A 8504

RIENEE N EL X 4644 RN EL 9601 30|t 25 5000 x> 8456

ik WER |FEE ¥y X 4172 SL|fE WHE [BE3K 8739 31|E BA 4725 A 8340

2|k BR |TEE X 3916 S 03 X 8690 32| B 4720 x> 8240

33|EE #H  |[MHEFse [Fy X 3768 B[R R [HEFsEe 8230 33|FE KR 3900 A 8000

B T EE) ¥y 3 3656 3a|EE #E |+ 7856 7 3580 x> 8000

35|/NE 3L 5 FyX 3312 35(AH Eft HHESE A 7670 7 3487 X 7664

36|iE BA [EEFEss ¥ X 3300 HEEEECED 7490 7 3301 x> 7530

37|l BEE AL FyX 3132 7[R = BE2X 7260 7 3288 b 7252

¥y X 3100 =5 7180 7 3112 x> 6904

FyX 3100 =] 6830 7 3049 X 6776

¥y X 2936 F 6763 7 3027 x> 6648

FyX 2320 FER 6560 7 2968 ERSE A 6496

¥y X 2300 KR 6504 7 2833 42| e A [mEE X 6484

FyX 2140 HHESE A 6328 7 2750 43[4t FHe AEER | x> 6470

¥y X 1949 HEF s 6181 7 2043 A EEEE R 6300

FyX 1908 B 6006 7 1917 45[81M FARB (20 X 6258

¥y X 1900 FHE 5934 7 1904 KR X 6240

FyX 1800 FER 5585 7 1900 FEH L 6240

¥y X 1800 KR 5171 7 1872 KR X 5872

FyX 1800 B 3 X 5030 49[1MR REE )l 7 1868 A 5680

¥y X 1620 #AGE 5029 RS ED 7 1380 x> 5576

FyX 1564 HEREF A 4884 51|z BH =& 7 1184 X 5402

¥y X 1080 FHR 4610 52|&A AN | KK 7 1181 x> 5152

FyX 936 =] 4310 53|zH EBEH B4 7 1174 b 4960

926 EH 4036 FEEEENET 7 960 x> 4880

714 FEE 4008 55| HE . &M 7 936 X 4848

528 HEF s 3800 7 828 x> 4488

FyX 468 =] 3788 7 804 X 4404

BEFE [fv2 372 KR 3682 7 756 R 4227

MEER ¥y X 276 HEFERER 3620 7 556 X 4080

3 246 #f0 2 [X 3513 83 7 555 x> 4048

216 HERE A 3400 BE3X 7 496 X 4008

216 3346 SR 7 308 x> 3920

Fu X 216 3258 B4 Paz7 216 X 3752

3228 x> 3680

3228 el P 3532

R ECE S 2971 wEFE [~ 3510

67|kt —2 [hmFse 2956 BE3X |4~ 3464

68|BH BH XK 2820 HR X 3373

69| B KB |HEmE 2766 R A 3252

B IESEIN el 2681 A A 3100

7118 XS = 2569 X 3032

B 2568 x> 3016

=LA 2526 X 2880

FHEE 2328 x> 2880

2229 x> 2856

2125 x> 2816

1900 X 2736

1633 x> 2684

1604 X 2616

1516 80[mmE X 2580

3 1416 80[##+ L 2580

A 1356 82| \wEiE {5 A 2399

83|alE EE |ER 1339 83| K B A 2344

84|5EF Ak HREE 1312 84| KL RK L 2340

i 2 X 1300 85(MO #ht A 2292

FEHT 1300 86|ME st A 2155

BER 1300 B8 L 2112

A 1300 i@ A 2088

B 1232 HER A 2080

K 1228 EEEE EXS 2080

1192 KR L 2080

1185 FEHF x>~ 2080

1116 BER L 2080

1116 EEEE EXS 2080

1076 89ftzh % Fii L 2080

HR 1014 89l st TFER A 2080

97|KE & =g 988 97|RE H=E BHilE |4~ 2056

B 940 HEEENET A 1970

KB 936 9| ¥FE EE [HEFrE x> 1944

100| K fad 25 [ 920 100{xE k& [# A 1890

101 % iR BEER 758 101|iE8 RE  |FE L 1613

102 KR 744 IR EEIE I = B 1600

103 g 684 102{ili5 & HEHE | X~ 1600

104] % 630 102|AF fiEE  [Ew A 1600

105 616 1024 =% R 1600

105|174t 616 102|554 JEiE A 1600

105{311 AHL 616 A pmE x> 1600

108|184 KR 600 102{)1 B A 1600

1094 E 552 102|@ A [#eE R 1600

109 | FAd MEER 552 102|fEHE ES #3E 2 X L 1600

111|tREH o 500 mftE kA [2m R 1587

112|458 L 360 112{F ® ) A 1576

13| 3 ] 340 EETEER 1512

13|04 B i 340 I e A 1500




115[#E 280 B X 1472
276 ) A 1428
276 I x> 1396
276 &l A 1320
216 BEASK [x> 1320
208 EE N EX 1307
186 AR R 1298

, 156 ) A 1244
A3 X 156 ALK X~ 1232
fEA 138 T F oA~ 1224
N 108 FERF X~ 1200
D) Bz 1198

EH x> 1181

BE2K | X 1172

EH x> 1133

R A 1120

EE) R 1120

FEM A 1120

FER R 1120

il A 1120

BER R 1120

130| /)1 R [ A 1120
130{ilis 7 EEEEIER 1120
130[3rAk ®3h [BEIK |4~ 1120
130(71i5 & e B 1120
130| s TE® A 1120
EERC R 1120
130 x4 B8% [BEIK |4~ 1120
130 2 A R 1120
130 #x  [duma A 1120
130| &R #n [ERZE |4~ 1120
‘ 50 A 1120

130{#Re % FEx R 1120
130|kok sl [sER A 1120
130|158 mE  [FEE R 1120
15004k A% [EE A 1076
1513rF A [FEE R 1032
152(frd StfE | BiR A 1008
1530 Haw  [FEE R 1005
[ S 5 A 960
155|@ft @t | FESF |x>~ 936
T B 936

x> 936

158 Ay 864
1593 X 800
159 A 800
159 % x> 800
159 Ay 800
x> 800

159 Ay 800
159 x> 800
159 A 800
159 x> 800
159 Ay 800
159 x> 800
159 Ay 800
159 x> 800
159 A 800
159 x> 800
159]% A 800
159 x> 800
159 A 800
159 x> 800
178] i HHL A 79
179 s X 744
179 (24 KR A 744
181 [ &% A X 690
1827k KR e 680
183|5 Eth FEA L 624
184|E 8 Rif FE L 600
185k fmiE  [Em X 576
b e BEFE [ 555
e RE (=5 A 552

187 Rl BN |BH A 552
187|711 B [KKR X 552
190)F% A (WA A 504
191(%% & FER X 496
192| Al hilEril B 492
193 B9)11 X 480
193(# 1l A 480
193 [ X 480
193 (At A 480
193 x> 480
193 Ay 480
193 x> 480
1932 Ay 480
193] 7% x> 480
193 Ay 480
193 x> 480
193 FE2R  [A¥ 480
193] e X 480
193 FEAE A 480
193 O X 480
193 g A 480
193(3 24 X 480
193 HRE A 480
193 =% 2 480
193 X 480
193|R AKX L 480
193[# 5% Il A 480
193|hf E— | A 480
216| & BEFE [x~ 468
216 i X 468
216 BE2X | A~ 468
216 KR X 468
216|175 =% X 468
221 EEEE EXS 453
222 24 X 432
222 FEHF x>~ 432
224 A A 430
225 FEm X 414
226 i A 378
227 FEx A 372
227 HEER |4~ 372
227 KR A 372
230 x> 360
231 Ay 354
232 [T A 340
it A 340

232(8RE %t x> 340
232( k@ BEF A 340
236 B¥ A 288




WIBERIFARRA ¥ b S

5/:7@93 3824 ‘?RQ—@?X 2124 9’9% F‘?X&—@?R 1124 ﬁ?*@’x

LAT4T KR Exic] 772 AL b X% 772 FA b X#E 772 FA b LAT4vY |KHR Exic] 772
[ ] R =7 34200 wEFE [vzxz— | 38580 X Gvzz-| 44270 i =HE |74
2084 EH |BE 31485 HimE RARE— 30550 FEA GwRE—{ 42420 2|FEH KR |Mm#E  |HhT7F
BEE] EL] 23563 aEla [vzxz— | 27803 FEA Gvzxsz—-| 38185 3[am = D) h7+
B BE v=7 21108 & ~z2x— | 27435 B Gvzsz—| 34265 4 h7F
5[ FE 20510 E] ~2%— | 21325 KR Gvzs—-| 20340 5 h7+
[EE] 20115 o ~2x— | 24550 BE2K  [avzz| 18445 6 h7+
7|RE 19420 L] RRE— 24470 N Gwz&—-{ 15276 7 Hh7F+
8l EE 18200 FhlE  |vra— 20029 FRE Gvza—{ 15024 8 h7F
9Nl s 15510 B RRE— 16465 AR GvAZ—{ 14004 9 Hh7F+
10 R 15072 FiEm ~z2x— | 16464 HR Gvzsz—| 13012 h7+
11(£% &5 15000 i RRE— 16185 = GvAz—{ 12741 Hh7F+
R 14956 wEFE [vzs—| 12193 HR Gvzsz—| 7819 h7+
13|%8 RS 14889 =] RRE— 12372 o ) GZ R & 7408 h7F
ES 14403 2 ~Az—| 12208 BN ED Gvzs—| 7352 h7F
15| R H— 13769 i RRE— 11301 #E [ER GZ R & 6300 h7F
16[=k 12516 T ~z2x— | 10944 53 Gvzs—| 6188 h7F
17 [ s 12296 R RRE— 10736 B— GZ R & 5000 =HLE  |Hh7F
18] )11 10988 KBR A%~ 9864 # FB2K  [Gvza- 4500 EEsE | h7F
19|ZH e 10912 FEB RRE— 9600 #E i GZ R & 4428 h7F

10903 T RARE— 9528 Fo | = G¥ R4 | 4392 h7F
10464 21|%% & 1B NRR— 9516 T =8 |m=R GZ R & 4240 h7F
9828 BEFE  |[vz5— 9476 B [gEex [ewzxs] 4156 h7F
9600 FERF [vzx5- 9465 X Gvzxsa-| 4012 h7+
9597 B A%~ 9132 3 # [BEpE [evzsz]| 3973 h7F
9483 ELE AL~ 9063 AiEH#E  [GIR2 3908 h7F
8750 ) <AL~ 9048 26[E% 55 [ R Jewzs] 3900 h7F
8745 FER AL~ AR 3hE |Bm G242 3900 h7F
8160 BE2E [vz&— 28] A1l Gvzs—| 3756 BEEGS h7F
7950 Tiggs  [v25— 29| R GZ R & 3696 h7F
7800 ) A%~ 30[®E Gvzs—| 359 275 5 h7F
7196 i RRE— 31|=H GZ R & 3100 27N B h7F
2 7044 5] ~ A5 — 31|%m@ B e D 27| #E h7F
33 [N hilER 6860 R RRE— 31[{FRE HEF T |G R 2 3100 B#R EX 8BS Hh7F
3| E8| BE2X 6853 E5 A%~ 31|k i Gvzsx—| 3100 h7F
B85 6760 Mk YRR 35[#F Gv A& 2856 BElE | h7F
R 6721 KR A% — it Gvzs—-| 2700 2 h7F
6360 R ~ AR — B Gvxs—| 2628 EA h7F
6324 BESIK |vAz— 38 H G¥ R4 | 2568 H7F
6081 LA [vx5— 39 [t Gvxs—| 2380 h7+
6036 BE A% — 404 Gwzs-| 2300
5914 KBR < A%~ 4o Gvzx- 2300
5910 FEHF [vRs— 40011 AT Gvzs—| 2300
5832 FEE ~ AR — Gvzx- 2300
5532 KBR <R 5 — Gwza-| 2300
5514 R ~ AR — Gvrx-| 2280
MR [vxa— Gv 25— 2233
5180 L N e Gvrx- 1920
5070 FiA <R 5 — Gwzx—| 1909
5039 TERT [v25- FrsH  |Gvrz-|  18%
5000 Iz & <R 5 — 250 Gwzs-| 1872
b L) 4884 AR TR | v 22— HEF i |G 2 1788
w8 =7 4808 ek <R 5 — Gwzs-| 1788
> 4520 FEE ~ AR — Gvrg- 1752
4446 HREE  [vAsx— Gwzs—| 1706
4176 FEHF [vR2- Gvzx- 1700
4170 FEE RARR— KR Gv 24— 1680
4144 2 ~ AR — S Gvzx-| 1633
4128 A |vRa— RE Gv 24| 1633
3900 FEA < A%~ 57(¥4 #183 [#F2R [ewzx- 1633
3900 e i [ 2x— 57|Am & |TE® Gvzx-| 1633
3816 HEmF i [ 25— Gvrx-| 1633
3770 BRS < A%~ Gwzx-| 1633
3668 g [v2sx— Gvrx-| 1633
3640 BER < A%~ Gvzx-| 1633
3564 BEIK [vxx— Gvzx-| 1608
3550 e < A%~ Gwzx-| 1580
3545 B R mF s [av x5 1556
3329 el R ails  [Gvra-{ 1404
3211 & |®s ~ A5 — gl [avxsx{ 1300
3206 70|EE B= [TE® R~ EE Gwzx-| 1300
3160 70/ B |TER ~ A5 — Gvzx-| 1300
3121 < A%~ Gwzx-| 1300
3112 ~ A5 — Gvzx-| 1300
3000 < A%~ Gwzx-| 1300
3000 ~ A5 — Gvzx-| 1300
2960 < A%~ Gwzx-| 1300
2937 ~ A5 — 69[ipk hk  [H@E Gvzx-| 1300
2905 < A%~ Gwzx-| 1300
2868 ~ A5 — Gvzx-| 1200
2851 < A%~ Gvzs—-| 1170
2833 ~ A5 — Gvzx- 1104
2833 < 2% GvAX 1000
2833 <A K= = Gwzx-| 1000
A 2652 A% BE2R  [Gwxx 1000
HE2K 2645 <A K= s Gwzx-| 1000
FEE 2616 A% GvAX 1000
2600 <A K- Gwzx-| 1000
88[iLA 2520 < 2% GvAX 1000
IS 2430 <A K= Gwzx-| 1000
0|55 EA 2412 A% GvAX 992
ol|mA f— 2344 <A K- Gw %] 980
92|k B 2343 < 2% N EMETNESS GvAX 980
2300 <A K= [E BRI ETE Gw %] 936
2300 A% 93|Mvs EZ  |@midla  [Gvax 936
2189 <A K- 3 Gw %] 850
2164 < 2% GvAX 780
2133 <A K= Gw %] 780
2100 < 2% GvAX 712
1980 <A K= Gw %] 690
1945 < 2% GvAX 680
101 A% BEFT 1912 <A K- Gw %] 600
102| £ %— |FEA 1884 102[E 8 A% GvAX 468
103[# e 1872 103[&S bk TAK— Gw %] 468
10453 1870 104[# #E <25 GvAX 468
105 1868 105[%A WA | KB YAL— Gw %] 468
106) 1842 10644 ## = < 2% 106[rem s |Epilis  [evzsx 300
107 1801 107[41 G |mE <R 5— Gw %] 276
108 1737 2 < 2% GvAX 276
109 1701 <R 5— ) Gw %] 248
110 1668 < 2% gl [Gvzx 234
111 1636 <R 5— #BE2K  [Gvzx] 186
112 1633 < 2% R GvAX 108
112 1633 TAR—
112 1633 #5 <25
112 1633 el e
112]2 1633 107[4H 3+ ems [vxs
112| & 1633 I ECEE2N T TAR—




112] =4 1633 107[EH B2 A% — 1000

1121800 1633 107[#A Ffe <R 52— 1000

12| 1633 107[AAR F— <z 5 — 1000

1585 ] YRR~ 1000

] 1564 107|8@  #H— AL~ 1000

1524 107\ A% SR [HEFsE [v28— 1000

124]8m B 1512 124 E1L B <z 5 — 996

124(FE K |SHLS 1512 125/ HEF s [v25— 988

124 Al @ 1512 1267 TR ~ A5~ 984

FRZE 1488 R <z 5= 980

1416 128 il <z 5 — 964

32 X 1390 129 B <z 5= 936

SHLES 1368 129 |45 HimE VAL~ 936

HR 1368 129 BE2K [vxx— 936

KR 1360 129 FhlE  |vra— 936

BER 1357 133 ABER YRR~ 880

§0E 2 X 1354 134 KRBT VAR~ 840

e 1350 134 KBR <R 52— 840

1320 E TR <z 5 — 756

1308 137| A% L] VAR~ 744

1300 138 B4 TR <z — 736

1300 139K = AR NRR— 734

1300 8B AL~ 700

1300 RE <R — 700

1300 uo[EA HE [ARR <z 5= 700

1300 BEm <R — 700

1300 TR AL~ 700

15| k7B 1296 =& <R — 700

14585k IEM 1296 FEHT YAE— 700

147 B & 1288 140 A+H EFX |FER NRR— 700

148| iR 3 1232 <z 5= 700

1200 <R — 700

1180 <z 5= 700

1152 <R — 700

1116 <z 5= 700

= 1093 <R — 700

¥ Ht 1045 ES AL~ 700

—f7 1044 140(#E R FE < A%— 700

#h 1016 3 <z 5= 700

1012 FEB AL~ 700

158[5t@ Tt =7 996 SEm ~ A5 — 700

159 [HEF HAEB | it 984 AL~ 680

160[shty 4 976 <z 5= 680

161|AE =8 960 TRL— 644

162[mm <% 941 <z 5 — 600

kS |EA 936 ~ AR — 600

163| =4 H#  [#E 936 VAL~ 600

163[# 8568 BE3X 936 ~ AR — 600

163 | i IR 936 166| A& piE |TER YRR 552

168 EF A% 924 166 [ ~ AR — 552

169 [ 1k 920 168 A% — 500

169[)1:0 Jets 920 168 ~ AR — 500

171 kB s 916 168] <R 5 — 500

172(#2@ $ERR 900 RARR— 500

172|%% #ht 900 FREEE  [vA%— 500

172[P% ®— 900 FB2K [vxzx— 500

172|&E Bt 900 Z KR YAZ— 500

AEE 900 68|k RE |[EW ~ AR — 500

172) il 900 b VAL~ 500

172 |88 2 900 BIR RRE— 500

RAEEIEN 900 77 <R 5 — 500

172(EsE A 900 168t FEE ~ AR — 500

172 900 <R 5 — 500

172 900 ~ AR — 500

183 896 <R 5 — 500

183 896 ~ AR — 500

185 882 <R 5 — 468

186 876 ~ A5 — 468

187|7 832 1843k sEig &) ~ 25— 468

188 817 187 [ 5B R ~ A5 — 432

189 758 1881 E® #50 ~ 25— 372

190 744 188 E ~ A5 — 372

191 715 188 < A%~ 372

192 708 188 ~ A5 — 372

193 | IAR Bk 700 188 TAR— 372

193[ iz 700 188 ~ A5 — 372

193[mE sk 700 188 T ~ 25— 372

193|fIAH  #hid 700 188 REP | KBR YA — 372

193|401 —% 700 196 KB [mED ~ 25— 368

193|828 vv> |= 700 197 ER ~ A5 — 288

193[t3 & 700 198 i < A%~ 278

193 [ hng 700 199 RARR— 276

193|@H K# 700 199 < A%~ 276

193[ K 700 199 ~ A5 — 276

193[ st 700 199 < A%~ 276

193 (7L 700 199 ~ A5 — 276

193|742 @— 700 199 < A%~ 276

193(7)I &R 700 205 ~ A5 — 248

193|918 E 700 206 | =7k 7 [wrs— 234

208| B B 5 692 207 el e 186

208[s% #H 692 207 B < 2% 186

210| W% 690 207 BE2K |[vR&— 186

211 | #idk 680 210 KER < 2% 170

211 %A 680 210[5 TEB <A K= 170

211[22n 680 212 FEA < 2% 138
211[¥ =R 680
216[®E = 660
217|%#@ B&E 644
218| LT 8 636
219|# 616
220|% 600
222 590
223 588
224 576
224 576
226 556
221 552
221 552
229|F 522
230 520
230 520
232 495
233 492
233 492
235 468
235 468
235011 468
235 |5t 468
235| R8s 468
23510 468
241 K11 464
242 [ HEF 438
242 | e 438
244|1RE 433
204|RBS B 433
PAECEERD 433




433

433

433

433

NIRRT

433

433

433

433

433

244|BR B 1K 433

433

244|Ef ER  [iRig
B 433

433

433

433

SO I I R R e Il

433

SIS

28038k ki |@ES

283|#A M2z [BE1IX

284|2 IEA FEH
284[EE KiE KK

284 [3E00 Ry
2842 R TE

284 | FiE

284k 4

284|tE4 K R

@
2

284| L% EE

284| 2% RE

284|BHF ®A

284 [tk FE

284|f0H 5

216

216

216

216

325 |l &3k

216

216

195

195

195

195

184

176

156

156

156

156

156

156

156

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

150

TEA

w
®

BE2X

150

150

150

150

150

150

150

150

150

150




2018EMI FAURSA ¥ b TS

H=RZXy SR 6%, DLAYIIR o PITFYLAYIIR 834 LBY4A¥IIR 514
LAT4v T |KRA XERH IR |FA4vE XEBE IR |FEAvE LAT4vT KA XEBE 772 |KAF LAT4vT KA b3 772 |FAF
1|hig 3 [WE H—LZ 52140 BRH |FRGE (V44> 30140 1k EAT |MmFsk (ST 4> 44280 1R €2 [#@ER  [LBv 4 x| 41192
2\mm ®mE |TES H—LZ 44290 £K |KKR YA A 26848 2|xI mEs |TEA Sy x| 24540 2|mH EBE O |BE2X  |LBY 4 4| 31456
3| B AEF s |-V X 43820 1 i TARY 19040 3|\LME AREE [BREFE ST 4 x| 22613 3|"% MF |&S LB 4 4 26593
4| L] H—LZ 39675 FER YA A 18328 AR EF |TERA Sv4 x| 21845 4BE BFY |EHM LB 1 4| 22217
5(x2 boilial] H—LZ 34600 HAEF T [ 4 X 13816 5|EE &< |®@ Sy 4 4| 20695 5| BF [HM3X LBy« x| 21288
6|k FiE | TER H—LZ 32005 FEHF V14X 13224 6|%M RFY |&EE Sy 44>~ 19058 6|/vbk R LB 1 £ 17437
T\ FE (== #H—LZ [ 28000 T A AY 12480 7|l FiE KR Sy 4 4| 18468 7|3 LB 4 x| 16216
BEEIETIEL H—LZ 27176 BEFE V14XV 11164 8|ail Fap |=E Sy x| 17856 8| T LB 1 £ 15000
9| M [IN=) H—LZ | 25995 == AR 10656 9IEE = &R Sy 44| 17352 DS LB 4 x| 12777
10[r0 HER H—LZ 25740 YA A 10080 10|EE4E & |25 sy x| 16420 10T REF [MEER  |LBYy (x| 12480
11|58 = H—LZ | 21337 BEm A A 9800 1[HR #F |=8 Sy 4 42| 15305 11|mm & FEX LB 4 x| 10268
12| K% BE3X |H-LX 17792 HMEER |71 AV 8312 12[33)1 JEF  [emE Sy x| 15044 12|ff F5TF [MRL LB 4 A 9420
13[=m Al D 17401 FER A A 7700 13|FEHE B\F [BE2K [Sv1 x| 12504 13[ige ZHMlA  [LBY 1 X 8721
14|Fm L H—LZ 16480 BE2X V14X 7592 14| A% E6F [TEA Sy4 x| 12259 14 [ FEH LB 4 A 7632
15|tF 2 R H—ILX 14142 FEA A A 6580 B BT iTE:] Sy 4 4> 10096 15|20 27  [H#EE LB 1 X 7616
IHEERES S H—LZ 13377 FEA YA A 5304 RE |MemE SY 4 A 9892 16[7% oYF |BEAFE |LBU1X 6497
17(50 P2 |[FESH H—LZ 12548 FA A A 4960 Bm == SY 4 A 9564 17|&| £ [T¥Es LB 1 X 6493
18[8% AXT [#Eex [H-1X 11589 17|38 ®% Wi YA AY 4960 18|t wy [\ SY 4 A 8365 18|i% HfER  |LBY 1 X 6040
19(Fm = =8 H—LZ 10789 17|xk8 #% iR A A 4960 19[ilE XETF [FEX S 4 A 8010 19|88 e [FEA LB 1 X 5000
20[NRERD | H—LZ 10137 207t HE |EE YA A 4292 20|FE AF |FEA SY 4 A 7260 19[EE »Yu [EEE LB 4 A 5000
21|iEk E |EE H—LZ 8817 21[BH SPF |RHE A A 3866 21| A BX BB S 4 A 7137 214 BAF |FESKF [IBU4X 4656
22| ke BE A H—LZ 7763 22|%BE HEF YA AY 3680 EC S Sy 4 Y] 6340 22(7| TV - |%diEm LB 4 A 4272
23|AkE U+ KK H—LZ 5453 22|l BRF TAAY 3680 23|#%E ®RF |FEA S 4 A 5834 23| ¥R EA  [=sila (LB x 4025
24[7A BRS |EE H—LZX 4574 2|as HEE YA A 3680 24|Ky BY |FER S 4 A 4972 24[A® ki [MmFs (LB 1 X 3900
25\=5 AW | H—LZX 3900 2|%F AE  |ZHE A A 3680 25| FEHR MH |ER S 4 A 4640 25(%M K#TF |MimsA  [LBU X 2833
26|E)1 &5 |EE H—LZ 3564 22|k8 AL £ YA A 3680 26| PH EE Sy 4 £ 4440 BEE LB 4 A 2833
26(ER Fife  |AAREE H—LZ 3564 27|/l fEE  |EA A A 3533 278K AR |BESK |S74 XY 4410 £S5 LB 1 X 2528
28| &M E H—LZX 3436 28|F% EW¥ |TEA VAR 3432 28| HE HETF [BA Sy 4 £ 4057 MEER LBV 4 X 2508
29|88 HEEF T (A x 3281 20[3M e |MEFE A A 3018 9|%E: B BEFZ  [S7 4 X 3960 &M LB 1 X 2300
30|tz B2 [H-rx 3060 =% kE |BR YA A 2880 30[A E£X  |[BEFZ [svaxY 3900 =R LB 4 A 2300
31|k H—LZ 2300 e TA A 2880 30|18 fhx ST 4 XV 3900 =8 LB 4 X 2300
31|15 i H—Z 2300 ECIGEE YA A 2880 30|ARE ET  [MEEFSE [SY 4 A4 3900 EL LB 4 A 2300
33| A KBR H—IZ 1890 33|’k HE |HBE2K TA A 2562 33| A% KR |REE ST 4 XV 3544 FER LB 4 X 2300
347 4 PR |- 1790 dAd BF |KKR YA A 1877 34[tbzE EET |ES Sy 4 X 3176 Fei L MR |LBY X 2160
35| KA #BEIX [#H-1LX 1769 35| HAE EF EHELIA TA A 936 35[F HA  [BHEMLE |ST4 XY 2880 35(MipE FJ7y  [MEEOR (LB« X 2148
36|EA WP |MEEER  |H-AX 1276 I EE L YA A 780 36|MEks M| FER Sy 4 X 2803 36[#5% @B4 [MEER (LB 1 X 1900
37| LFI EA H—LZ 936 37|BER HE |FER TA A 612 37(hR B [FER ST 4 XV 2800 J7[FE 5= |€EB LB7 4 X 1896
38| = H—LZ 840 HEEEEE T EEE 552 I EECEEEE R 2768 38[wE W@ [MEmER (LB 4 X 1812
39|RIR EZR |MEFsR | H-LX 653 39| HE TR |MEFsE (V44 520 38|#ZiH AT |BA ST 4 XV 2768 39|m)Il BEE |[BE3X LBV X 1800
40[sA Fizk  |TEm H—LZ 600 4008 B |ER YA A 504 40[ILE EF  HEF IS [ST 4 X | 2680 40|#0 #h | BER LB 4 A 1733
AL|/NE MESS | HERIE H—LZ 486 AL|BEH BEE |FTEHRF (Vx> 494 Al|ER RE |BRAFE [ST 12 2384 AL|BIE LLTF |BAFE [LBV1x 1680
20FR e |MEER | H-LX 468 Ry BF |8 YA A 482 R|ER #F  |BR SY 4 A 2300 R EL LB 4 A 1292
A3|3RA  [HE |HERE H—LZ 378 43R BEF | FES TA A 324 A3\ B E# MR [ST 1 2 2153 A3|ERE fex | LB 4 X 1224
M| miE R | T H—WZ 372 A4\ R EZ TARY 234 A4|1NEE EE | TER ST A4 A 2152 44|80 8% | TER LBV 1 X 1086
45| E=E | TEA H—LZ 340 45|3#B8 fEtE  |HAEE TA A 186 45|35t hicF | TEA ST 4 XV 2051 455 e LB7 4 X 936
46[2E B |MEER  |[H-LX 326 46[5E L e ELE YA A 170 46|k E FRE |EA Sy 4 X 1944 46| ILE HF BT TS LBy 4 A 648
AT|fRER EE | FERTF (Vx> 138 AT|ZE AT | KBR S 14 X 1872 AT|fREE HiCT |MEEHA (LB 4 x 468
48|/ Rt Sy 4 X 1848 EH £ [Es LB 4 A 434
48|/ = o] ST 4 XV 1848 49(#%FTF BF |EM3KX [LBU«x 372
50[/NEFF ER (=LA [SV 4 A 1803 49|89R EMF |MEER  |LBY 4 X 372
51|/NE #HE |BM ST 4 XV 1768 51|t B il LB 4 X 312

52|tEBk TE | TEM S 14 A 1633

52|FH WY |BiR ST 4 XV 1633

52|55 BT SY 4 A 1633

52|/NE HY ST 4 XV 1633

52|k & SY 4 A 1633

52|EpE HUIF | ST 4 XV 1633

B SY 4 A 1486

59|RA mEF ST 14 X 1480

60 | SY 4 A 1468

61K BF ST 4 XV 1300

61|%F%E XM SY 4 A 1300

61(HE ik ST 4 XV 1300

61|31 A& ST 4 X | 1300

65 (BT RAF Sy 4 A 1248

T SY 4 A 1187

67(HE &F ST 4 XV 1080

68|pE =wE [Em SY 4 A 1068

69[FE FH M ST 4 A 1000

69|t €5 |ZE SY 4 A 1000

69[MmtE AR | ST 4 A 1000

69| Ll #F SY 4 A 1000

EEEREIS ST 4 A 1000

69|fE4 R EFX|TEA SV 4 X 1000

69[BOL RF [MmFs [Sv 1 XY 1000

76|%@ EF (B SY 4 A 942

TT|RE Bx |BEFE [ST1 2 744

78| k8 & L] SY 4 A 624

9| BF | FER ST 4 A 616

80|k —% |&5 SY 4 A 386

8l|+# =T |All ST 4 A 372

82|H EF |BEA3K [SV1 XY 340

83|IkH ‘i |BA ST 4 X 186




0B EEISAPRL 2 b TS

LBAYSIR e LBRRE=PIR . s BBY4AYIIR e

LAT4v T |KRA XERH IR |FA4vE XEBE IR |FEAvE LAT4vT KA FAV b LAT4vT KA b3 772 |FAF

14t fe— [FEskF (B>~ 46680 1 JEEER  [LBvz&{ 36250 1[EF HEA 49500 1T BR |ZE BBY 4 4| 60570

2| RA MEF S |LBX Y 35920 2 damF s [LBv 24| 31934 2|iEE 1% 30940 AEERES S =] BBV 4 4| 46570

3 B LBX > 34120 3 SR LBz %{ 28616 3|4ER R 22003 3|RIR KT |M@EFIE BBV« X[ 36420

4 LBX > 21888 4|5m =R LBz %{ 28470 4[E L # 21150 4B A FER BBY 4 #| 35540

5 LBX > 19128 5|80 FEHF |LBvzR%| 20550 5| Ek 16414 5|Ef BIF |FEA BBY 4 4| 20686

6 LBX > 19040 6|l Al [ERER  |LBvz& | 20400 6|80 16236 6|ihk MF |TEA BB 4 4| 19064

7 LBX > 18600 7% F— LBvz%| 19850 1|¥H Bz 15248 7|#%E KE [FER BBY 4 4| 17942

8|% LBX >~ 15846 8|mE zE | LBvx%{ 19348 8|8 HE 14468 HECRGARES S BBV 4 4| 16564

9 LBX > 15360 9| FH R LBvz%| 17710 o|fEt 3UF |#MF s |BBA >~ 13980 9|EsH PR |FESR BBY 4 4| 16552

0 LBX > 15176 ik |18 LB¥Z%{ 16766 10[ATF Rl |[FIEH BBX 12821 10|3E #5  |#E BBV 4 4| 16360

LBX > 13488 11|&E e [FEm LBwZ&{ 14990 BB X >~ 11304 11{5# »$6Y |#REFEI [BBV 1 4| 15681

LBX > 13270 12(28 = = LBvz%{ 13372 12| &= BBX 10841 12|21l HH BB 4 4| 15604

LBX > 13128 13| frek LBvz%| 13310 13 [/ BBX > 9600 13|RR &F |[T¥ER BB 4 4| 15092

LBX > 13036 14|11 LB¥x%{ 12720 14(M BBX 9384 14T BB 4 4| 12560

LBX > 12064 15[ +2 LBvz%| 10992 15| F% BBX > 8488 15|=R B%  |E=R BBV 4 4| 11928

LBX > 11670 16[ 1T LB¥x%{ 10870 16 |7 BBX 8300 16| kA —= |#Ex BB 4 4| 11580

LBX > 11280 17 K7k LBvz%| 10432 171l BBX > 7948 17|85 EAR [FESR BBV 4 4| 11322

LBX > 10944 18[%% LBv 2% 8996 18|38 BBA 6956 MEF I [BBY 4 4| 11201

it LBX >~ 10112 19($9M LBY 2 % 8884 19(# EA BBX > 6840 =i BBV 4 4| 11105

BE3X  |LBAY 9576 20|#MH FER LBv 2% 8620 20| 8 HEF 75 |BBA ~ 6697 FIEA BB 4 £ 9560

Al LBX >~ 8960 21(#% EE #EA3SK [LBvz% 7800 21| AR H BBA ~ 6068 SHifles BBV 4 £ 8600

LBX > 8240 FEE SN LBv 2% 7440 22|55 BBA 5890 BE3X  |BBY 4 4 8516

LBX > 8180 23[#dR EF  |BE2K  |LBYRZ 6944 23|@ME 27 ¥ 75 |BBX >~ 5000 FER BB 1 £ 7824

ik LBA >~ 8080 240 #—8 |BE3X [LBvzx 6720 24|mEE FE [HEIX  [BBX> 4992 7 (= BB 4 £ 7456

FEHT [LBX> 8000 25(%M B |MEE LBY R % 6708 258 A# |BFAFE BB~ 4833 > [tam@oR (BB 4 6609

HEIX [LBx> 7584 26|/3F i i LBv 2% 6300 26|EA BT BBX 4760 HEE BB 4 £ 6472

ZhflA  |LBX > 7408 26| A LBY X & 6300 27| R BBX > 4500 Al BB 4 £ 6300

FEA LBX > 7104 28|15 B LBv 2% 6112 28|ME it BB X~ 3900 28|HE O Y) | BB 4 £ 6200

LBX > 6436 29[ REH E LBY R % 5880 29|)Ilks  EBA BBX > 3144 BT FEHE BBY 1 £ 5752

LBX > 6240 30|kE +EE LBv 2% 5784 30[sA BBX 3072 ZRE &M BB 4 £ 5505

LBX > 6240 31|#ilk BS LB¥ 2% 5200 31| RN Ba BB X > 3044 B FER BBY 1 X 4994

LBX 5754 32|87 HE LBv 2% 5000 2|HA HE BBX 2833 L BB 4 £ 4033

BS LBX > 5616 33|#E BR |FB1IK [LBvxzr% 4872 33|k & BB X > 2796 AR i (BB 1 X 3900

G LBX >~ 5592 3a|Ex - |[FiEm LBv 2% 4796 34l S BBX 2496 BB BB 4 £ 3840

12k LBX > 5460 35| Kb &HiE |AEE LB¥ 2% 4652 35|l ¥ dtiEE BB X > 2300 = BBY 1 X 3816

FEE LBX >~ 5264 36|AL BE [FEA LBv 2% 4508 36|kE Wit |HEFZ [BBX > 1984 R ERIE S BB 4 £ 3744

BER LBX > 4960 37|TFE = i LBw 2% 4332 37|KE ME | FESR BBX >~ 1872 37[xA =7 [MEHE [BBU1x 3648

B3I  [LBx>~ 4960 38| AR ERE [FiER LBv 2% 3900 RS BBX 1600 38|F B BB 4 £ 3072

EHA  |LBXx> 4888 39|RE Hz |MEEFsB [LBvrL 3608 39[FA ML [KER BBX 1560 39[=H Ei [BEm BB 4 X 2400

= LBX 4884 I ESEIE s |LBv 2% 3384 39|hE K BBX 1560 40[40)1l hnd e BB 4 £ 2300

KR LBX > 4860 Al|3T#E LEEER |RRSE [LBvRX 3180 39|BmER =|E  |BEMFE |BBX 1560 40/ #EF | KBR BB 4 X 2300

G LBX 4500 2|FEF B |= LBv 2% 3100 R|RE wx  |EEls  |BBA Y 1512 EERE e BB 4 £ 2300

#E3X |LBxX» 4480 43| REPE & LBv 2% 3052 ¥ |MmER  [BBx ¥ 1170 38R HR =8 BBY 1 X 2136

®5 LBX 4392 44[1E@  Ef LBv 2% 3000 #l EL I CEERS 600 44))18 RS |MEF IS [BBY 4 X 1984

LBX > 4380 45|56R LBv 2% 2880 B—  |E8MlE  [BBx» 372 A5[HhiR R | TFER BBY 1 X 1704

LBX 4052 46|11 2 LBY 2 & 2424 #® LE |1 BBX 300 46[1k BF  |Em BB 4 £ 1560

LBX > 3680 AT|BR = LB¥ 2% 2300 46|kl ERT | TER BB 4 X 1560

LBX 3680 47|k HAF 75 |LBv 2% 2300 48| KA BE  |BE2K  |BBY 4 4 1536

LBX > 3680 ME#E |[LBvxRr% 2300 49| 7 fE gzl BBY 1 X 1512

LBX > 3652 JeimE LBv 2% 2300 50[mE wF  |#Em BB 4 £ 1472

LBX > 3620 FH LBv 2% 2300 5l{&FE Ty (=4 BBV 1 X 1404

LBX > 3568 HEFE |LBvzZK 2280 52[m@ fF (=i BB 4 £ 1276

LBX >~ 3312 R LBY R % 2132 53[Ms fE  |FER BB 4 £ 1170

LBX > 3068 #mER  |LBv 2% 1992 RFOWE R BB 4 £ 936

LBX > 3048 55\ ®W—  [EE LBvZz % 1936 55[5% ®F [BM BB 1 X 744

LBX > 3040 568 EE(MEFE [LBvz# 1872 56%M Ax |[TEAE BB 4 £ 680

LBX > 2880 57|fEHA =z [ER LBv R % 1840 EEMLA  [BBY 1 X 468

LBX > 2880 o =l LBv 2% 1800 JeimE BB 4 £ 468

it LBX > 2880 58| 518 FAL [HEER LBv R % 1800 =G BBY 1 X 468

57 B | LBX > 2880 BER LBv 2% 1800 Bl BB 4 £ 468

57 % |[EmZE [LBx~ 2880 HE LBv R % 1800 R BB7 1 X 468

62 #7  |HE3X |LBX» 2856 HFF T |LBv A& 1752 FIER BB 4 £ 340

62 i3 LBX > 2856 63|EH t#— |BES LBv 2% 1700 R BBV 4 X 312
64 ot LBX >~ 2680 YEFT |LBvzxX 1634
65 = LBX > 2590 BEHlA  |LB¥xZ& 1624
66 B LBX >~ 2588 KER LBY 2% 1614
67 BX [ZEB LBX > 2080 FH LBv R % 1472
67|FiES A |l LBX >~ 2080 ELE LBY 2% 1372
67[#1%)11 8% | LBX >~ 2080 R |LBv A& 1368
67|=4 ®iF |ES LBX > 2080 f BiR LBv 2% 1300
67[F)I1 it FBEIX [LBx> 2080 T0[HT ¥ | LBY 2 & 1300
f LBX >~ 2080 NEGEE] 25 BT 2% 1300
LBX > 2080 S =l LBY 2 & 1300
LBX > 2080 NEEETNEEE LBv 2% 1300
LBX > 2068 EEES R LBY 2 & 1300
LBX > 1908 70[#F  H—88 [MEmF s LBy 24 1300
LBX > 1812 HEER  |LBvR & 1300
LBX > 1744 E BT 2% 1276
LBX > 1600 FEE LBY 2 & 1200
LBX > 1600 80|=% %7 |Wm#Ha [LBvzzx 1068
LBX > 1600 81 B | KR LBY 2 & 1000
LBX >~ 1600 818 Hx HA LBz & 1000
BE2K |LBX> 1600 8154 #RE |M@#R [LBvx% 1000
JI: LBX >~ 1600 81| A B |EH BT 2% 1000
&[ LBX >~ 1600 81l WX |¥&E LBY 2 & 1000
LBX > 1600 81|FA& 23 |KRK LBv 2% 1000
i LBX >~ 1512 81|®MA # HmE#HA  |LBvRZ& 1000
[ EEPESZ LBX > 1476 BIERE N BT 2% 1000
88|t % LBX > 1476 81(BR it |& LBY R % 1000
90|l KA R [LBx > 1356 Q|1 #HE | LBZ 2% 988
0[EH# EXR |BE3IRE |LBX> 1356 91[/A# =#  |M@ER [LBvRZ 984
R|EE #t |TEE LBX >~ 1264 92(#A #1  [MEEF s [LBxz & 980
[l BN |BE3R  |LBX> 1152 93| TH ®— |M@#A [LBvzRZ 952
dU|EA EE | TESR LBX >~ 1136 [AEERES B LBZ 2% 936
95T FX |& LBX >~ 1128 95(mH = 1X |LB¥Z% 848
96| LH A |EE LBX >~ 936 MmER  [LBv2% 840
o7[BE BN |EH LBX > 892 FEH LBY 2% 808
98| &Il & 5 LBX >~ 840 iR LBZ 2% 804
99[AK FEF |F1%L LBX >~ 832 BEFE  |LBY 2K 780




100|&4 BN | ZHE LBX > 756 100\ Bz [ME#R  |LBv 2% 744
100\ &M #t8  [=EilA  |LBX >~ 756 101(hia IEB  |kiim LBZ 24 714
102)\iT B =K LBX > 744 102|144 E— [ME#R  |LBv2% 648
103|# =7 EEL] LBX >~ 740 103[kME £7 |#m@ER [LBvz% 616
I ET LBX > 648 FEA LBY 2% 556
105\\F B=  [#ES LBX > 624 BiR LBv 2 % 542
106|%i% 15 2iilE  |LBA Y 600 R LBv 2% 168
107|m)Il A |=8 LBX >~ 588 106 E8 |#HES LBv 2 % 468
1083 AN |BE2RE  |LBXY 520 e L LBY 2% 432
108|R# BA ke LBX > 520 109|/\6 #i%  |EH LB¥ 24 372
110|ARE  fRi |B5 LBX > 468 109|841 2 [ME#ER  |LBv2& 372
110[HA H—  [=#iflé  [LBx>~ 468 111|EF #2 |=@ila [LBvz% 248
110[18 240 il LBX > 468 112|48R 3z |Fk LBY 2% 216
110| 54 5F BE2E  [LBx> 468 112 |MFF = LB¥ 2% 216
14|58 RE  |MEER  |LBX> 414 112[Ah Fsb LBY 2% 216
115|H4 B K& LBX >~ 372 112| =3 &3k LBY 2% 216
116|%F &EX LBX >~ 340 116|512  Hl LBY 2% 184
117| K& 3Lt LBX >~ 276 117|E3 # LBY 24 156
7)1l A HiEER  |LBX > 276 118)#3 Eif LBY 2% 138
17| KA BE |FTERF [LBx~ 276

17| @ HEF T |LB A~ 276

1U7|ihF 5050 [#E3K  [LBx>~ 276

122|1%)Il EA|ES LBA >~ 252

123|KE A LBX > 248

124|3fAF B LBA >~ 138

12451 A% LBX >~ 138

126|ffE fEE LBX > 124




